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¢ Please check that this question paper contains 7 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

¢ Please check that this question paper contains 25 questions.
¢ Please write down the Serial Number of the question before attempting it.

* 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer-book during this period.

YHSTRAMTHA
SOCIOLOGY

e o -3 g2 SIferhaT 37 - 80

Time allowed : 3 hours Maximum Marks : 80

| faT
(i) 797 B FoT GEI25 & |
(ii) @ T SfEF & |

(iii) 797 G 1 — 14 TF T9-3% a1 J97 & | % F97 & 2 i & | 378 @ Jeda 797 &7
330 15T G 3ifs BT el G AT |
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(iv) 97 Q&7 15 — 21 T -3¢ aret 797 & | 09 797 &4 3% & | 379 T T 797 FT
T80 II=T G 3iferes T F&T EAT =RT |

(v) T GE22 - 25 7% 37 9-307 alct J97 & | T 797 &6 3% & | 370 G Jedh 797
&7 3200 F15T G 37 T T8l G FET | F97 G 25 FT I 7T §T 317 & SR
WITE |

General Instructions :
(i)  There are 25 questions in all.
(ii) All questions are compulsory.

(iii) Question Nos. 1 — 14 are short answer type questions carrying 2 marks each.
Answer to each question should not exceed 30 words.

(iv) Question Nos. 15 — 21 are long answer type questions carrying 4 marks each.
Answer to each question should not exceed 80 words.

(v)  Question Nos. 22 — 25 are very long answer type questions carrying 6 marks each.
Answer to each question should not exceed 200 words. Question No. 25 is to be
answered on the basis of the passage given.

1. OfY=Ewiehor (eTeeshion) I1es & 3T a1 THer € 2 2

What do you understand by the term westernization ?

2. U i Ufde § AR Heigil i s Seire & fotT ha Ui i 2 2

In an industrial set-up, how can a manager make the workers produce more ?

3. GOl Ud HARSH I o o7 ferfau | 2

Write the meaning of term infotainment.

4. SUFAN T W, U Sl Uelieh i S ST € 2 1+1=2

In what way consumption pattern is related to status symbol ?
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10.

11.

12.

62/1

AT YTHT T T TR T TE6E o 2

Why coastal cities were favoured by the colonial rulers ?

R0 ST UieifiTeh! 41 qiere ol ¢ 2

What changes has been brought by the technology in newspaper industry ?

TR & Y9 7 3T Hie ot YHESAIHT § 6T TR wuifed 8T 2

How were silk spinners and twisters of Bihar affected by globalization ?

IR SArehes | I T9E T et fume € 2

What role does pressure groups play in Indian democracy ?

TR ST T i & 2 SeTedT ]I |

What are counter movements ? Give example.

ferie vt & fafiT= T s 2id € 2

What are the distinct modes of protest ?

193t ITATeSt o HHTST GERT S g foand s of Jared |

State the main concerns of 19" Century’s social reformers.

TN & O for=imo &iF & JHed THe™l | ShifdeR! IiedT g TR gT 2
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1+1=2

In what way advertisement in technology led to revolutionary changes in global

communities.
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13.

14.

15.

16.

17.

18.
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TS TS 3. % ITELT JIT | 1+1

Give examples of INGOs.

TR HTe Thy U BHR STk ST & 91T & ?

How mass-media is a part of our everydays life ?

UL TEE M A % T B T SETHIAROT 3R THIHTOT Y TSI By e
T | 2+2

Explain the politics of assimilation and integration used to establish national identity.

AR 3 THSTAENT 7R STt aftled | f=ar aarss | 2+2
AYAT

SIAETTEE & TN H YA i STHe H F8! SUA-JIe Hil 3ME 2

Differentiate the sociological and economic perspective of market.

OR

How did the advent of colonialism in India produce a major upheaval in the

economy ?

3TAfaIeTeR SHTeT | -5 TSI 3BT Hewaqul Jeh & T | farwetsor sifsw |

Nation-State became the dominant political form during the colonial period. Explain.

73e GME TTHIOT ST bl SATETST bl AT A & [0 TR0 57 T3 | fae=mT St |

The 73" amendment has been monumental in bringing voice to the people of villages.

Discuss.
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19.

20.

21.

22.

23.
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3T & fael § TRIT QAT Sl JiHeRT 3T TrefehdT 91 € 2

AYAT

FiEpiaeh fafa=TdT T Semen 3T AFeINe 3R giids 3HT = § U 7=t A & | 9Rd
H T TS & € § ot §U 30 2 1 3T [9g I |

What is the role and significance of civil society in todays world ?
OR

Encouraging cultural diversity is good policy from both the practical and the

principled point of view. Justify the statement using India’s case as a Nation-State.

R T §RT TG bt =1 § S RS st ST I |

Discuss the changes that the Trade Unions bring out in the lives of workers.

T WIS TR QO A1 gt 9 g aXe = € 2 2+2

In what way the new social movements are different from the old social movements.

IS TRISHOT & A HeT NgT=l bl S3TeX0T Higd [avetoT Hifsy | A1x4)+2

Explain the three key principles of social stratification with examples.

& it o WIS TROTHT 9T YehTeT ST |

Highlight the social consequences of Green Revolution.
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24, AIGHATHS THTS H GE6 T A3l 5 Sel ST 1E GaAIeTsh aHa sl S ST | 6
YAt

ST STHSTIART Yed o A2 & G o1 HRT & 2

Explain the structural tensions faced by men and women in matriarchal societies.
OR

What are the factors behind the assertion of tribal identities today ?

25. i fU T RIS i ufeT SR FEteiEd UeE & ST S

AT 1999-2000 F T UTTETT HIRIUT ST & 3fehgl 3 WA SFITUMT 2001 % 3fiehgl ¥
Tl oAl & o TET 3 TRIF ST YR o Soirehl § ASTIR U1 A (1 % AT e
IO FHE) H & H TH T ORI RS 3 § | 98 i ganedi o "ol | o Wl gedl ¢ |
15-30 919 & 3Mg a7 | ASHIR heg I 3T 1987 T 1994 & S 1 7@ § WHT R TRIF
THT TSI o TEUT o feTT oI 2.4 WAeTd Uided o | 98 1994 & 2004 % IR AHIT T&ut
% T geay 0.7 wfaerd iR A qeui o fou ges 0.3 Ufaerd & WX W 3T e | Theh
AT gl T U gar Sfhes ot §RT Ud 19 AN &t STeHT i adfaehdl § aRafad
TET H FHATE |

31T IR o AR 3TARR] 1 Sl STAHIRIHE §R Goll & IH A 3SH o TIT J0EiTaar af
HiSIg & | kT R T &6t Sl 39 T8 AT § [ SIS bt wiokal @ g8 grreed Tal
T Ut T U TOFITTET Bt St {oham ST | ST ek ST ol i T A9 el ST
G & T &1 37 WwIferd ol Sl e S S ST o IEerdl g8 3T WXeT fheTeTel g6 o aret

T
(37)  STHITHHIT TATIET T 37 T & 2 2
(@) T b AR § SIS e ardd § 9Rd H Ush Ged TG g @iet &
g2 4
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Read the passage given below and answer following questions :

Data from the National Sample Survey studies of 1999-2000 and from the 2001
Census of India reveal a sharp fall in the rate of employment generation (creation of
new jobs) across both rural and urban areas. This is true for the young as well. The rate
of growth of employment in the 15-30 age group, which stood at around 2.4 per cent a
year between 1987 and 1994 for both rural and urban men, fell to 0.7 for rural men and
0.3 per cent for urban men during 1994 to 2004. This suggests that the advantage

offered by a young labour force is not being exploited.

Strategies exist to exploit the demographic window of opportunity that India has
today. But India’s recent experience suggests that market forces by themselves do not
ensure that such strategies would be implemented. Unless a way forward is found, we
may miss out on the potential benefits that the country’s changing age structure

temporarily offers.
(a) What is demographic dividend ?

(b) Do you think that India is indeed facing a window of opportunity created by
demographic dividend ?
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